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it's moreover layman language you have used.. need to enhance your answering pattern... being a student of Professional level.. you should start with the definition quoted in section 2 (69).. 
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complete the sentences..






gap of changing para should not be more than half inch (1-1.5 cms)..
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answering short notes .. it would be better if

you attempt in para form.. it helps you to

secure more marks..
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spacing.. refer my earlier remark..




follow any one pattern either paragraph form or point format.. don't mix them... for answering short notes .. it would be better if you attempt in para form.. it helps you to secure more marks..
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not required.. in final level.. examiner is only interested in what is been asked ... your answer should be to the point ...




firstly digital signature needed..




no more requirement to apply for DIN separately.. you can get DIN through SPICe form now.. go through with the provisions and get updated yourself with the amendments. 


need to elaborate these points....
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it's a case law.. you have to start with the provisions.. and discuss your case with it...
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spacing .. refer my previous remark.. 




explanation could be more better .. refer suggested answer sheet for better contents...
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is it asked?? read the question carefully...


from here your answer actually started...


this is the main & important points.. u need to elaborate these... avoid writing extra contents which is not asked ...
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go through the sections properly... u need to quote the correct time limit of allotment and refund part... it's one of the important & recurring section in which a CS deal Generally.. 
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explanation could be more better.. also you can use tabular form to present your answer... for distinguish between questions.. tabular presentation with the basis of difference heading would be appropriate.. 
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this is wht is asked ... u have to write section 53 only....


read the question carefully.. where it is written share are issuing to public??




not required... go through the sections carefully..
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first & formost thing is whether the articles of the company contain any provisions.. if not amend the articles...


explanation could be more better.. refer suggested answer sheet for better clarification..
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start with the type of meeting & type of resolution need to be passed ... also you need to work on answer drafting and presentation..




need to work really hard on the basics.. go through the concepts thoroughly.. read the sections amendments.. work on answer writing and presentation... hope my remarks/suggestions help you to understand where u r lacking.. 


